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Make the noun
‘peach’ plural.

Place your counters on
start and write your
names on the score card.

On your turn, roll the dice
and move your counter
around the board clockwise.

If you land on a coloured
square, solve the problem
using a piece of paper

to score the points.

+ 10 points + 5 points

Use the verb
‘stop’ to
complete this
sentence in the
present tense:
The car is

Add the suffix
-er to the root
word ‘sunny’.
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J0 ssau- pnoys
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HONOPOLY

Make the noun
‘boat’ plural.

+ 10 points

Add the suffix
-est to the root
word ‘happy’.
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Place your
cards here.

+5 points

+10 points

\. .

If you land on a challenge
space, pick up a challenge
card and answer the
problem correctly to

score the points.

If you land on a chance
space, pick up a chance
card for a trick or a treat!

. The first player to reach
100 points wins!

Chance + 5 points

Use the word
‘hike’ to
complete this
sentence in the

O present tense:

I am

Make the noun
‘fly’ plural.

Should -en

Should -ed
or -en be

&

2

suffix -est

root word
mad

added to
this root

root word

root word

word?
fright

added to
this root

$
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